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fEmATIE  EELM %R HER
e g 568 ( R Eit HEE a1 BE |mtl  (#E Bt HEE faE HE |uwe] (E&E
BRI (RE2) B =H KAAS 100| {8 x99 #1579 100| &
Ei HFrE Al HE |Eal  {FE &t 200 kg &t 300 kg
3] fiftE s £t 113k 250| {& 1,400 @ 1,250 &
= W3 KR4k 300| f& 4,400 %
Mg & .
INFI47Y3k & ERE e
EiR wess [TV & Bt HEE Pt HE |uwe (EE
Rij WWH5H & FiF Bk Ea454 ke EH HEE iz HE |ue] (EE
YV R15k & A FEEIA, ETASH 500| kg =% 5 B2 T 800| kg
Bt 550 {& JKes B, TR 600| ke 7Ot 100| ke
B e 2PN 300| kg 9= 1,000| #&
] HE FEEIAL 435t 1,500 kg FESH NSs#t 800| #&
IMEE A5 ke REAS =Hst TH) 1,000( kg
Eih HEE i HE |l  EE sk EENIY 100( ke RS AKkBES |EIE 100( kg
FI& L85 FRLY. 5 200| {& N Izx#E BT 100( kg FES B *B 100( kg
B TV RKTDASN 100 {& = ZR RBARE, TATH 300| ke BE xS 7hv% 50| ke
=R Ly, 745 150| {& 1] FEAVE. TS 150 ke Bt 2,150 kg
BER E3R. ¥nHt & BE K ETHY 100{ kg 1,800 #%
E 0 7. E3A% 400| {& Bt 3,650 kg
IMER VET)S & &5 7,000ke
WY 54 100| {& s 5,660 &
X9 Bt A& 100| {& 1,250 &
hEE 7', 9745t 250/ {& it HEE g = | {FE 1,800 1% %78
IzsZF ¥93. 75 100| & f&fm g s B 1hst 100| & 4,400 t HEFER
ER 100| {& =mEN #9551 200| &
wkn 100| & BEEN 150| f&
& N34hsh 150| & R 200| &
EAR 150| & s #95. B1hst 100| &
A &R kg INER  [E545 250| 18
REXR BA H|ATA & EETA 700| ke
/N Bk KA 60| {& 1) Lyask 150| 18
RE ARH & R #9741 100| &
§ kg hE T 7')5 50( {&
1,960 & FTi] 10 50| &
HE IMVaq 5t 100| &
g EiI& WWHE Lyask 150| 4@
BE2R B Utq 150| &
EEh HEE A = |l {FE & 700 kg
Eig iR 705 100| {& 1,750 {&
15 D744 100| {&
IMEE  [E3R4F 100| {& = =
A o mEATE BREF
(OEP: N2 50( {& 5
EMA 200 kg AR
Bk 1839, Fas5t 200| {& i HEE g = e #HE
KR [ 5=3 E4 5 kg REA S bi77:: 0 8 =29 4,000 #&
X5 il 3 75 200| {& Banist BTV 400| #%
KiR N54h5t 100| {& ERES [Avda94  [Ehon's 800( &
=iE [3E ] Ahvt 350( {& =#45 #E52 50| &
ERE HE S y::] Nt & &t Unst BNVF 200( Z&
L V1< WYVEIE =520 50| {& 8= REHSN |[BEFA 300| ke
B VS EVES 20 50| {& Eigs s EAR'Y 100| &
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